ous hyd

spheric




10. CO group in a metal carbonyl cation absorbs at
2 Alower frequency as compared toa b A higher frequency as compared to a

neutral metal carbonyl neutral metal carbonyl
¢ The same frequency as neutral metal d None of the above.
carbonyl
‘L. The structure of Fe (CO)s is confirmed by
a. UV-visible spectroscopy b. IR-spectroscopy
¢. Mass spectroscopy d. None of the above.

12, Feo(CQO)q is prepared by
a. Thermal decomposition of Fe (CO)s b. Photolysis of Fe (CO)s
¢. Reductive carbonylation Fe (CO)s d. None of the above

3. The dimeric cyclopentadienyl rhodium has a

a. Tetrahedral geometry b. Square planar geometry
¢. Trigonal bypyramidal geometry d. None of the above.
4. Borate is removed by evaporation with
a. Conc HCI b. NaOH
¢. NaCl d. None of the above.
5. For a week electrolyte the degree of dissociation is proportional to
a. Square root of dilution b. The concentration
¢. The amount of solvent d. None of the above.

it The oxidation state of Pt in [PtCL(NOz)(NH3)]-

a. +4 b.+2
¢ +3 45
. Which of the following is correct statement for outer sphere mechanism
a. No chemical change b. No formation of bridged complex
¢. Both complexes should be in same d. All of the above
spin
5. Which of the following are good bridging, ligand
a. Br- b. NCS-
c. SO d. All of the above

9. Which of the following is the conditions of outer sphere mechanism
a. Both complexes should not be inert  b. Both complexes should be in same spin
¢. The electron to be transferred should d. None of the above

not present in Lz, set of orbitals

'0. The condition for inner sphere mechanism is

a. One complex must be labile b. Two metal atoms forming a bridged
complex
¢. In this reaction bonds are broken d. All of the above

and made
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[ Descrigtivej
Time : 2 hrs. 30 mins. Marks : 50
[ Answer question no.1 & any four (4) from the rest |

a. What is Zeise's salt? How is it prepared? Give its structure. 4+3+3
=10

o~

b. Write the synthesis of the following
(i) cis & trans [PH{CoHi)(NH3)Cly]
(i) cis & trans [Pt(NH;)Cly]

c. Explain the bonding in AL(CHj)s .

Explain the (i) Mechanism of Wilkinson's hydrogenation of alkene. 5+5=10
(i) Wacker catalysis for synthesis of aldehyde.

Explain the bonding and structure of 5+5=10

(i) Trialkyl aluminium
(i) K[Pt(CaHy)Cla]

a. What is synergetic effect? Explain in terms of bonding in 5+5=10
transition metal carbonyls.

b. How is IR data able to explain the extent of back bonding in metal
carbonyls?

a. What is solubility product and common ion effect? How they 5+5=10
related to precipitation of a compound?
b. Why barium oxalate acts as interfering reagent in qualitative
analysis. Explain why oxalate has to be removed before
proceeding to group IlI.
a. Draw the structure of Ni (CO)s. How is the structure justified by 3+2=5
Raman Spectral studies?
b. Write all the group reagents for qualitative group analysis of
cations.
a. Define trans effect. Write the theories of trans effect. 5+5=10
b. Explain the mechanism of nuleophilic substitution reaction in
square planar complexes.

Discuss the mechanism of two electron transfer reactions. 5+5=10

USTM/COE/R-01

W G



